
Let’s learn more QM from the simplest problem 
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(c) Picking up better sense on Quantum Mechanics 
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The idea here is general, although we are discuss 1D box problem 
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It is symmetric 
about the mid-
point of the 
box/well  
(or x/a = 0.5)  
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Inspect that the anti-symmetric (or odd) ones must 
be zero at the center of the box (point about which 
U(x) is symmetric).   Why?   



15 

Important to note that the argument here is general for 
symmetric U(x), not only for the 1D box/well    
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Another implication: 

The wavefunctions are plane wave of the form exp(ikx) 


